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QUESTION 1

Alert priority is established in which way?
A. event classification

B. priority.conf file

C. host criticality selection

D. through Context Explorer

Correct Answer: A

QUESTION 2

Which statement describes the meaning of a red health status icon?
A. A critical threshold has been exceeded.

B. At least one health module has failed.

C. A health policy has been disabled on a monitored device.

D. A warning threshold has been exceeded.

Correct Answer: A

QUESTION 3

Which interface type allows for bypass mode?
A. inline

B. switched

C. routed

D. grouped

Correct Answer: A

QUESTION 4
Which statement is true when network traffic meets the criteria specified in a correlation rule?
A. Nothing happens, because you cannot assign a group of rules to a correlation policy.

B. The network traffic is blocked.
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C. The Defense Center generates a correlation event and initiates any configured responses.
D. An event is logged to the Correlation Policy Management table.

Correct Answer: C

QUESTION 5

Stacking allows a primary device to utilize which resources of secondary devices?
A. interfaces, CPUs, and memory

B. CPUs and memory

C. interfaces, CPUs, memory, and storage

D. interfaces and storage

Correct Answer: B
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